
N = 902
902 circles in a circle

radius =   0.030994727634
ratio  =  32.263551782540

density  = 0.866527173268
contacts = 1354

 E.SPECHT
13-JUN-2010

N = 903
903 circles in a circle

radius =   0.030985936162
ratio  =  32.272705744850

density  = 0.866995800598
contacts = 1481

 E.SPECHT
13-JUN-2010

N = 904
904 circles in a circle

radius =   0.030970016119
ratio  =  32.289295431644

density  = 0.867064276182
contacts = 1400

 E.SPECHT
14-JUN-2010

N = 905
905 circles in a circle

radius =   0.030959828230
ratio  =  32.299920805706

density  = 0.867452422470
contacts = 1413

 E.SPECHT
14-JUN-2010

N = 906
906 circles in a circle

radius =   0.030953460832
ratio  =  32.306565182446

density  = 0.868053764170
contacts = 1562

 E.SPECHT
14-JUN-2010

N = 907
907 circles in a circle

radius =   0.030941377669
ratio  =  32.319181476350

density  = 0.868333548792
contacts = 1410

 E.SPECHT
12-JUN-2010

N = 908
908 circles in a circle

radius =   0.030920574270
ratio  =  32.340925859227

density  = 0.868122377189
contacts = 1174

 E.SPECHT
13-JUN-2010

N = 909
909 circles in a circle

radius =   0.030903575225
ratio  =  32.358715543658

density  = 0.868123144195
contacts = 1346

 E.SPECHT
13-JUN-2010

N = 910
910 circles in a circle

radius =   0.030896755374
ratio  =  32.365858094003

density  = 0.868694638303
contacts = 2073

 E.SPECHT
09-MAR-2023

N = 911
911 circles in a circle

radius =   0.030890834997
ratio  =  32.372061166777

density  = 0.869315998658
contacts = 1427

 E.SPECHT
18-MAR-2011

N = 912
912 circles in a circle

radius =   0.030881872672
ratio  =  32.381455963829

density  = 0.869765334458
contacts = 1328

 E.SPECHT
18-MAR-2011

N = 913
913 circles in a circle

radius =   0.030880666921
ratio  =  32.382720313393

density  = 0.870651033211
contacts = 1706

 E.SPECHT
18-MAR-2011


